
9.1 – Le Chatlier’s Principle

1. What does Le Chatlier’s Principle state?

2. For the following reaction, indicate whether the action will shift the equilibrium to the left, right, or will have no effect on the system.

4HCl (g) + O2 (g) 
[image: image1.emf]
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2H2 (g) + 2Cl2 (g) + 113 kJ

a. Adding O2 – ___________________________


b. Adding heat – __________________________


c. Increasing the pressure – __________________


d. Removing heat – ________________________


e. Adding Cl2 – ____________________________


f. Removing H2 – __________________________

3. For the following reaction, indicate whether the action will shift the equilibrium to the left, right, or will have no effect on the system.

NO2 (g) + CO (g) 
[image: image2.emf]
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 NO (g) + CO2 (g)


a. Increasing the pressure – ___________________________

b. Removing CO2 – _________________________________

c. Adding NO2 – ____________________________________

d. Removing CO – __________________________________

e. Adding Ar – _____________________________________

f. Reacting CO2 with HCl – ___________________________
4. For the following reaction, indicate whether the action will shift the equilibrium to the left, right, or will have no effect on the system.

NH4CI(s) + heat 
[image: image3.emf]
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NH3(g) + HCI(g)

a. Adding NH4Cl – ________________________

b. Removing HCl – ________________________

c. Adding Ne – ____________________________

d. Raising the temperature – _________________

e. Lowering the temperature – ________________

f. Adding NH3 – ___________________________
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